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ONHEX HLETY|(5%)
2,000,000 2,000
301 EtE NS 3,000 3,000
11 AALRHIXIRS 3,000 3,000
Otiuel =dAL 8 5 24
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01 At2teltl 21,888 23,000 A1,112
OZ=HINd 23] 18,000,000& 18,000
ORFASET SAHI(EY)
9,0002 *4Z 92 * 122 3,888
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O AFRLEO
7,000,000& 12} 7,000
ONET 2HEAY 223
5,000,000& *12] 5,000
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3,000,000& %12 3,000
ONMEELENXE ANEZ=E2 3
5,000,000& 12} 5,000
202 04l 10,000 0 10,000
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A SEXRAD
M UX2E 8
ol XEE XA (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OAZFAOIA FL(NBRER)
4,000,000 4,000
OEEEL R 200, 0002452 +203] 20,000
ORFASLE HE
18,0003 *2, 10052 37,800
02 E2324H| 125,878 168,884 243,006
OFMNELEZ(LEHE L MAIZZXE)
1,311,220 «8H = 12& 125,878
202 0idl 56,100 51,600 4,500
01 =WHO4b| 8,100 6,600 1,500
OPCIAI2 AT S AR 1,800,000 x2 3,600
OABIHSH==(154 0]8)
1,500,000 *3H 4,500
04 =Mt 48,000 45,000 3,000
OARBI=ZeI4(15 014}
3,000,000& =16 48,000
308 AHXIHMSOIH 21,635 21,117 518
13 BI |2 SOICHEH B A X LEALH] 21,635 21,117 518
OHEZXYOIMEEAIAY S22
21,635,000 14 21,635
403 REXISHHIS K201 & 5,479 5,479
02 I 2SS A2 X 2| EFAIZ I 5,479 5,479
OEZENLQINFSAIAL 01Tt Sa
5,479,000& x 14! 5,479
SHIUAIAE 29 15,000 15,000 0
303 L&z 15,000 15,000
01 Z&3 15,000 15,000
OB L PHTLH MAE
15,000,000 & * 14! 15,000
cHIZHE 23,720 23,240 480
201 B2 AY| 23,720 23,240 480
01 Al 221 17,000 17,000 0
OZFHIF thH L HC= RI=
2,000,000 *12] 2,000
OF0IAoME L ZTBDN RO
24,0003 x25 2 *43) 2,400
Oo=zgAs B8 Az HH
3,200 7502 *43] 9,600
OXIgXIeteols 29
3,000,000 14 3,000
02 E324H| 2,400 2,400 0
O=oUAE 28 Nz g8 fuERZ
1,000 *600F*43] 2,400
03 AL2 G| 4,320 3,840 480
O=2QI0te| et &It @3 ZAlH|
9,000 *80F 63| 4,320




SN HPTAD
M AXZE 8
=t EE HEAA (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
SXAIAI 22 7,500 7,500 0
& 3,000
= 4,500
201 B2 AY| 7,500 7,500 0
& 3,000
[ 4,500
01 A=R2teld| 7,500 7,500 0
02025 SXIAH Al E
7,500,000 * 14| 7,500
T 3,000
= 4,500
=012 I DA} 72,980 107,980 A35,000
201 LB-2AY| 64,480 99,480 235,000
01 AtR2elt] 19,480 19,480 0
O=0Ie & AAIRIRE ¢
70,0003 *14H 930
O=eIe| & AlAIXIZ HI&
30,0002 x50 1,500
O=glo &= 2 I M=
1,500,000 3«72 10,500
Ox=&EE H&E 2,600 *2,50004 6,500
03 AL2 G| 45,000 80,000 A35,000
OHMie3==E &etzolo] & J|gAl
45,000,000 * 14| 45,000
301 LetENZ 6,300 6,300
11 HAAHIXIE S 6,300 6,300
OAEIA B42 1,000,000 »2H 2,000
O=HEIA BAZ 300,000 *1H 300
Oalds S8 243
2,000,000 28 4,000
308 AXISHMSOIA 2,200 2,200
13 BI| 2 SHIHEHE & &2 ALY 2,200 2,200
ORMB3=E Aot 0Io| & AL E2H]|
1,100,000 »24! 2,200
Et=las N 2,000 2,000 0
201 LB-2AY| 2,000 2,000
03 At2ZH| 2,000 2,000
Ossgs dAFA 1,000,000 23| 2,000
NBAMNRAZSE 36,400 36,400
201 L2 AY| 24,400 24,400
01 A=R2teld| 24,400 24,400
O=a itz 700,000& =123 8,400
O=a 2l s 250,000& =128 3,000
OJIEt MREE S 13,000,000 13,000




SN HPTAD
3 =g 28
ol XEE XA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
202 04l 8,800 0 8,800
01 2LHoIH 8,800 0 8,800
OHNBAIRA HRFE(ME, =3)
8,800,000& 8,800
203 HR=AH] 3,200 0 3,200
03 A=A PR FZ| 3,200 0 3,200
ONIBAIRA AR2FT (A NF2E)
3,200,000& 3,200
ol 24 XI& 76,860 93,500 16,640
307 glztol & 76,860 93,500 16,640
o7 g=Xls=s 76,860 93,500 /16,640
OArZ =22 5,520,000 »65%+20H 71,760
OMiRxZ0 5,100,000« 1 5,100
SNSE &8t & 178,500 230,400 A51,900
INBEH L3 178,500 230,400 /51,900
202 04| 178,500 230,400 /51,900
04 =Xl=to1b] 178,500 230,400 /51,900
OFY - © U U AMB ols
120,000,000 * 14! 120,000
OZIIDSH HeIXH%
6,500,000 »9H 58,500
A=Y= ST 2,323,29% 2,456,039 132,743
A=Y= NE 281,674 361,126 ANT9,452
101 @124H| 224,868 220,309 4,559
04 JIZtN2 2N S 2+ 224,868 220,309 4,559
OtiHele eIAH(K0IEA &) 83,536
—Jl2=s 80,2402 x5 *120 48,144
—uwSH| 2,000 x5E »120 1,200
—=4| 4,0003 x5 *120& 2,400
—F=5=4 80,2403 x5 »2r 10,833
—ReREaE 80,2402 x5 » 16 6,420
—Axt==g 86,2403 x5 H+62 2,588
—SEFOHI 300,000 x5 +23] 3,000
—4ii28= 74,585,000& *12% 8,951
OF LAY S2AF el 36,790
—JlZ2s 91,9503 x1H 200! 18,390
— =t 2,000 » 18200 400
—24tl 4,000 =12 =200 800
-5+ 91,9602 x1&x52& 4,782
— =25+ 91,9503 18 x162 1,472
— ¢ x==g 97,950 18 x15& 1,470
—A22 25
18,3602 x 1 *20A[ 2+ 123 4,407
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B x2E 2
el RESA=SI S (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—SEFOHI 300,0002 1 +23] 600
—4ii28 = 34,823,880& *12% 4,179
— S AL LII=H| 100,000 x1&+2& 200
—SAAL X2l 90,0002 12+ 104 0
OFUAlE Zeld 12| 103,942
—Jl2= 85,9103 x32*200 51,546
— St 2,0003 %38 »200! 1,200
—=4| 4,0002 38 +200! 2,400
—F=5=g 85,9103 x3& »52& 13,402
—ReRd+E 85,9102 x3&» 162 4,124
—g Xt 91,9102 %3 » 15 4,136
—AN222RE
17,2402 3 +20A1 2t 123 12,413
—SEFOHI 300,000 x3E *23] 1,800
—40i28= 97,921,440 *12% 11,751
—Xc| M= 100,000 x3&+3& 900
—xcld e st 90,0002 *3H 270
O=UAE SAA HEY Z&]
150,000 x4 600
201 er23| 42,366 95,557 A53,191
01 At2teltl 19,666 72,857 A53,191
OF2ZZ 1I=Hl 230,0003 %159 3,450
O7UaE A28 7Y
7,000,000 14] 7,000
OFUAY FELMAS
120,000« 12& 1,440
OXNIASYSI PRFT SAHI(SNH)
9,000 x8E* 9L 12 7,776
02 S3=gl 16,700 16,700 0
OS2 ML (LY SEBESH)
10,700,000 * 14! 10,700
OTFUAY S824|
500,000& x 122 6.000
03 Ar=EHI 6,000 6,000 0
OF-Al2 F2d& H=sUa
6,000,000& *12] 6,000
202 048l 1,140 17,060 A15,920
01 2L AL 1,140 17,060 215,920
OZAIE ASAH(HE, =F) N=HB 0l
20,0002 x2EH*x2 2 +632] 480
OFAZE g =X
20,0002 *33E*12] 660
303 Za= 13,300 28,200 214,900
01 Za= 13,300 28,200 14,900




SA BEXAD
H: UX2H 7
el RESYsEN A (Gt H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
SEEETEEEENE
700,008 * 197413l 13,300
=INEE] 167,309 272,79 105,490
101 Q1A b| 4,29 35,304 ~31,0%
o4 JIZHZ2ASES 4,29 35,394 ~31,0%
OB AZ2I(B2) LAIAIS 124
85,9102 x2% x252] 4,296
201 Yt 161,163 137,406 23,758
01 Al 22lH| 137,606 122,740 14,866
O=01 T (FAtz2l)
21,0002 *40JH*12] 840
OZI| 7 (FAtzal)
26,2502 x40 *13] 1,050
OAS8 25 M=
10,7502 312 Al *6% 2,000
OFArsB 22 24,540
—HAASHI(H53IAAIME D)
500,000 %53 2,500
—HARR| A2E 7Y
1,666,660 * 122 20,000
—gxla "3 HE 120,000 * 122 1,440
—ZEA Ha2D)| ANE XD
50,0002 * 12 600
OFAN Hap2|(2g A2, R2F 5)
10,000,000 %24 20,000
OFAEA 22X I8 2
150,000 1244 600
OFABIRA Higla? H4 ¥ ZEDA
1,216,0002 *14! 1,216
OY=T L (EH) 72,360
—= 60,0002 4% 1192 28,560
—== 60,0002 2% 3652 43,800
OFAt B4 8 15,000,000 * 14! 15,000
2 S22l 23,557 14,665 8,892
OXl2ea| 22| fX24
2,231,008 *4:20 8,924
OFAHEOHHH| AlAE X2
338,700 * 122 4,065
OFAF CCTV RAI24 2,000,002 %14! 2,000
OCIXIE HARHN AIAE SXIS4
8,568,002 *14! 8,568
405 XHaHE SH| 1,850 1,850
01 AL 2EH St 1,850 1,850
OXsa &2 7
1,850,0002* 174 1,850
=22 152,073 147,399 4,674
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B x2E 2
el RESA=SI S (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 8,540 4,780 3,760
01 At2teltl 5,540 4,780 760
OJI=2 BIIAICIE EAST
70,0002 x2EH*13] 140
OJIga &5 2,200,000 14 2 2,200
OF=E3My2s 4+
70,00021%224%53] 700
o= 2579 2,500
—J|=R 2YSE 7Y
100,000 %52 500
—JIS= HII Xl 2,000,000& %12 2,000
2 S524g4l 3,000 0 3,000
OJl=3 2w Fol DA
3,000,000 14| 3,000
202 04l 4,680 4,680
01 =LHA LI 4,680 4,680
OJl=e Fol 2 NE S(5%)
130,000 3 * 122 4,680
207 ARl 70,000 70,000
02 MAHHEHH] 70,000 70,000
OE2)122 2284 U XL 89
70,000,000& *14] 70,000
308 XXM SO0IH 68,853 67,939 914
18 SIS0t & A AS A 68,853 64,689 4,164
OE=JIS2CIANAY S8 sl
68,853,000& x 14 68,853
HEE SXNME 23 1,618,440 1,528,275 90,165
201 fet= 3| 1,618,440 1,528,275 90, 165
M IEE=SNM AL 1,618,440 1,528,275 90, 165
odsd ST 23
1,493,000 %1,080& 1,612,440
OH8A SXMHE SMEHELIE X3
300, 000& x20H 6,000
SR s2g N 66,400 87,040 20,640
201 er2 3| 16,400 26,400 10,000
01 AtR2telHl 6,400 16,400 10,000
ONZ2L2A HESY
1,000,000 x4 71 4,000
OSFE =X AMR4E 23|
200,000 * 122 2,400
03 A= &I 10,000 10,000 0
OSF& Atz etits Uzl
10,000,000& » 14 10,000
202 04dl 50,000 60,000 10,000
04 =Xl=todb] 50,000 60,000 10,000
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g =g 28
el RESA=SI S (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZRE AR o2l
50,000,000& » 14 50,000
SRA s2g A 37,400 59,400 22,000
201 er=23y| 12,400 22,400 10,000
01 AtR2t2|HI 2,400 12,400 10,000
O33R X AIR4 2Z4|
200,000 * 128 2,400
03 A2 I 10,000 10,000 0
032X M3
10,000,000 *13] 10,000
202 04l 25,000 30,000 25,000
04 =Xli=todb] 25,000 30,000 /5,000
O32A ARH o2l
25,000,000 *14] 25,000
Qe A 636,838 657,531 A20,693
< 14,126
[Ea 622,712
A 2 STAE 3,750 3,750 0
< 1,125
s 2,625
201 er23 | 3,750 3,750 0
= 1,125
= 2,625
03 A= I 3,750 3,750 0
O2%Fcl 2dstl 28
3,750,000& 14| 3,750
=S 1,125
s 2,625
clotR LA 2 35,553 36,662 A1,109
< 12,251
= 23,302
201 er23| 8,675 9,130 A455
01 At2tltl 8,675 9,130 A455
OFII2= & S0y 2N
100,000 =154 1,500
Oag 27| & 2| F(0=ssa 23)
10,2503 7000012l 7,175
301 2= 2,376 5,712 A3,336
11 AALAEIXIE S 2,376 2,112 264
ool g =2 =342 =
9,000 »22& * 122 2,376
307 elztol & 24,502 21,820 2,682
= 12,251
Ea 12,251
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DA BEXAD
= IX=zd 78
ol Sl (SH9 H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
OMOISXIEX =3 (MOtS2sS ZleH
INTD) 13,560,000 & x 14! 13,560
OsESZNEAS (SLEs=H)(MOS2
= tZXIE) 12,100,000& %14 12,100
Os2NE22)] 2s(Mits2s detzXl
3l) 4,800,000 * 14! 4,800
OAt] ELEFII(MOIE2s M2 RIS
) 30,000,00021 14} 30,000
OMSEHZLS(MOIS2S FA2T3)
3,956, 0003 14 3,956
O=2a2=H gs(Mots2s de=Xal)
5,600,000 * 14! 5,600
Odletz =il 2268 ot efiizl
3,720,000& *14] 3,720
03 PIZHNEE 22X 171,444 129,232 42,212
OuRl=g& otz olal 2EH|
11,760,000 & * 14! 11,760
Oletz MWetzelsl 2|
29,050,000 *14] 29,050
OottziaI2sdotzEelsl 2SI
44,820,000 *14] 44,820
OXzsHdNer=2Xs 22X
36,024,000 *14] 36,024
OMiOtS2stet2Xls 2SR
49,790,000& 14 49,790
04 QIZHHAIAIH 2 £ 105,960 70,960 35,000
O=28l e Xt 35,000,000 x14! 35,000
O01% &0tsE(xetz Ol &S S])
50,000,000& * 14! 50,000
OHtEAIE0IS U (HtiEAAD|2S 8otz
g23l) 5,600,000 14! 5,600
O=0SEMT S (HIEH A |I2S &ekz
=R 2,460,000& %14 2,460
OXI3AUa(HtEAHaII2s Eetz2 o
3l) 5,400,000 * 14 5,400
O XX stotSUs(S=HREN
WRIOLRXIS]) 7,500,000 * 14! 7,500
402 SIZERHE0| M 30,000 36,000 26,000
01 QI 2 AL E (XM TR ) 30,000 36,000 26,000
OXSgdl =4 JIs822
15,000,000 *20H A 30,000
AsLEH 2 10,000 24,000 14,000
301 2N = 10,000 14,000 A4,000
06 A= HAHIXI& 10,000 10,000 0
Olt=ggicgszl 234l
5,000,000& 12} 5,000
O0d Hegtgiidga 24|
5,000,000 13l 5,000
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g =g 28
el 2™ A (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
MOFS X=Xt = 11,240 10,002 1,238
= 750
= 10,490
301 EtE N = 11,240 10,002 1,238
= 750
[Ea 10,490
etsdstii=s 1,500 1,500 0
OMOISXIEX T Hats
1,500,000 *14] 1,500
== 750
e 750
11 dALEEIXIE S 9,740 8,502 1,238
O&=MOE X=X =
237,00024 +20% 4,740
OMOIE 52D Y H=SEXXE At
S X=X i3l 125,000 +40% 5,000
SMFHESA 2L 1,645,606 1,668,975 A\23,369
[ 24,962
Ea 1,620,644
SHER =8 62,335 60,042 2,293
S 19,931
= 42,404
101 @124H| 11,589 11,608 A19
= 1,711
[Ea 9,878
04 JIZtNZ22 NS+ 11,589 11,608 A19
OAFE M ZAF JI2ERIZ 2 At 7,840
—S22A & AR N QIR Y
83,2802 x2& +28& *70% 3,265
—UERE URY
80,2403 x2S 192 70% 2,135
—ZARKIE 2| At IR Y
80,2403 x 1 %282 x70% 1,573
—=28= 7,720,000 *11.22% 867
02025 M=SSEIXIE At A 3,749
—ZAR2ZEIRE QIR Y
83,2803 x2& »20 3,332
= 1,711
Ea 1,621
— AR 28 &
3,332,000& *12.5% 417
201 Ler23 | 50,746 48,434 2,312
= 18,220
= 32,526
01 At2teltl 50,746 48,434 2,312




A HEX2

Mo T2E
e MMgE SR (St &)
= - q A
SN - BB SR(BIH) - NISAY - BES O] ot e RS2
SHAS Y2t 40,0003 =905 3,600
OAIZ M ZALA E28I
80,2402 5 +26 2 *70% 7,302
OMAXNZAIE ES AR WSH|
6,000 x5 H 252 7 (% 525
Q2025 M=ESEXNXE AISIZAL BEOAM &
2F 40,0003 «645 2,560
Q0258 M=EETXT AMSIZA ZALZS
- 16,000& x20Z 320
00258 M=SEEHIUXE At2lZAF 28] 26,962
— A 80,2403+ 18E 16 23,110
= 11,555
= 11,555
—dAaE R 80,240 x4 12 3,852
& 1,926
i 1,926

020258 M=SEXXE Ate| A WSHI

6,000 » 18 »14& 1,512
= 756
[ias 756

020258 MSEE KT Ate|ZA S +

= 86,0002 «810H 4,860
S 2,430
[ia 2,430
020258 MSSEXXT AL ZA HESE
- 4,000 187K 72
= 36
[ias 36
O20258 MSEEXXE ASIZAF ZAE R
el 1,0002+2,633F 2,633
S 1,317
fia 1,316
020258 HSSEUXE AZAL S2E =
B 80,000 *50H 400
= 200
[ias 200
HHHEs 2 739,729 739,980 2251
201 L2 389,099 326,770 62,329
01 AtR22te|bl 152,928 126,623 26,305
OogE AZEQH - 94,878
—SHE I A2024 SH2ALA H2ALEH
101, 3002 *3200H 32,416
—MSLIIA GAS HZHAIEA
263,220 +2240H 58,962

17,5002 «200H 3,500




S2A: #HEXI2
. UX=2d 28
Ce. MAMEBESAlZL (SH9 H2)
SN - O(BH) - NRAY - BAS 0l &y G o HIDS2
OBMATEINH 2 28,640
—PCE Al HZIALZ A
31,2502 *800H 25,000
— KNS 814l HIIAIE
455,000& =8 3,640
OcHE ATEN R 8,430
—CHAEHE(CAD) H2AAIEH
600,000 * 10K 6,000
— A EHE & (Photoshop) H2EAIE A
580, 0002 *3H 1,740
—CIXHRI 2 (ILLUSTRATOR) 2 AL A
690,000 = 1JH 690
OS2l&(ZEHO0IX) 280 ZId01EE S
M=l 5,760,000& *x2J4 11,520
OWnH PC L UHESRA A2F 2
20,000& 16091 3,200
OF=I| dxts 50,000& x12& 600
ONelaeEEsS 28288 ¢
800,000& *13 800
OBZTBeI2Y ALEX SAHI(5Y)
9,000& x5 *92 x 122 4,860
2 ss294| 236,171 200,147 36,024
OY s (AAXE) AL
1,655,100& x12& 19,862
OB 0otdH ™AEHl FAIE=H|
1,325,000& * 12& 15,900
O=2L2t 24 2.0(S/W) KXIE4=H]
845,000 *12& 10,140
Oo2Liet M 2.0(H/W) SXI24=H|
1,396,000& x12& 16,752
O2Ltet M 2.0 I AIAE FXIE b
1,111,340+ 12& 13,337
o2l 24 2.0 4ARIX SXEaHI
460,800& 12 5,530
OCHIYSSHELE HEHD X220l
1,376,100& x12& 16,514
OQIHYASRI2EIAIAE SXIEH|
244 5003128 2,934
OYRESHEH SANEH|
1,650,000& 122 19,800
Oodese R 244l
396,300 =128 4,756
OI2Y JIASIMEH FAIE==H|
1,026,000& * 12& 12,312
OPS(REEXIAXR]) S22
245,000& 123 2,940
OBEZI|A0NN 2elAMAE S 22|
430,000& 12 5,160




2A:

3 IOD_?I-EE =
e MMgE SR (Gt H2)
2 - IE
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
OPCIHOI B HABSHAIAE SKIZ2t]
333,340 x 122 4,001
ONUELSESI S22 A A R 2=
559,700 x 122 6,717
OUEST F&B2INAHNC) RXI22
580,000&* 122 6,960
OASHBALEY RXB4Y|
185,000& * 12 2,220
OMSHEEE S22 ALY |2+
] 89,0002 122 1,068
O&iokz tHE +el&(SHI0IX) R4l
2,004,000« 122 24,048
Ozt E FelH(SHOIX) SHel At
= 30,0003 921 270
Oxetz UE FelH(SHOIX) Lot A58
SSLAFEZ 250,000& *124 250
Odetz & FelH(SHOIX) =k
HIA AIEE 125,000~ 12& 1,500
OgIzt 224t A2t 0122 (&-Alz2t)
3,600,000& 123 43,200
202 048l 7,800 7,800
01 =LHOHI 7,800 7,800
OPCEZE % UIERID &H| H(SN)
130, 0002 +22» 128 3,120
OMOFE U HRHO AE HA(SH)
130,000 x3& * 12 4,680
308 AXIHSOIA 145,830 123,410 22,420
18 SIS0t oA AS A 145,830 123,410 22,420
OJI= XXM AIOIHE o HESSE Z2tAb
& 6,780,000 12 6,780
OXNLHBSSAAE MHIAOAT 29 =
Al2eld 7,300,000& 12 7,300
OXAEH s3SIt & MHHSPAILE =
Kl2eld 89,000,000& 12 89,000
O2LetAIAE MHIAOIAR 2EXH *
22 =22 42,750,000& *12] 42,750
405 AtatE=H 197,000 282,000 85,000
01 Tt =S F=HI 197,000 282,000 A\85,000
OZFH 7 (UHMHAS) 157,000
—2X 1,300,000 *100CH 130,000
—2LIH 270,000 »100CH 27,000
OXNESFE=EX 248 &g
21,000,000 * 14! 21,000
OLSatSAEHI(VPN) wH
4,750,000 ~4CH 19,000
23 0l 24 5,000 6,000 A1,000
201 Let=d] 1,000 1,000 0




2A:

Mo T2E
el HAEESA 2L EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
03 At2ZH] 1,000 1,000 0
O&F230tE @Al 1,000,000& *13] 1,000
301 LPENZ 1,000 2,000 A1,000
11 HAIAHIXIAZ 1,000 2,000 A1,000
OJ230I2 U= & 3o&A
1,000,000& 1,000
307 QIZ2t01A 3,000 3,000
02 QIZHBAAIEER 3,000 3,000
OZ=suUFE HAKA 3,000,000 *12] 3,000
L0 T ANt 84 25,095 24,610 485
& 5,031
= 20,064
307 212+01™ 25,095 24,610 485
& 5,031
i 20,064
02 QItBAAIH E X 25,095 24,610 485
OFEF0IE2 T2 22N ]S
25,005,000& 1 25,095
= 5,031
= 20,064
HEFBSAAE 29 808,767 611,648 197,119
201 L2 | 785,691 587,012 198,679
01 ArR2eltl 312,184 13,432 298,752
OEXSAAILEH, SEEH AR5 72
4,000,000 4,000
OStld =801 gtz
220,000 =123 2,640
OF=)| dXt= 50,0003 *12& 600
OfIdVes =4z 250,000 =122 3,000
ORIotE SHE NE3t A
50,0002 *6,000% 300,000
OHYFPESAMALE HR2FZX SAHI(SH)
9,000 x2Z 9« 123 1,944
02 B22gH| 473,507 573,580 100,073
O=201EE841 3HH(2Z-8H2 3ldE
4,000,000& 128 48,000
Oll=seYds 24 AER
400,000 x 12 4,800
Oll=stEds 4| d83dz
7,200& #3210 2% 12& 27,735
OZNEESLUAEIAL AIZEZ
416,600+ 12& 5,000
O1/02 883 AHZs
300,0002 123 3,600




2A:

PSP

0% [ >

21 o2
> b 0

HT 02 {0
4
o

| Salze] (S &S
SA - B S (3H) - MISAY - B2 ofl aro G o HDE2
Oonsb|g d3Es
1,700,000& x12& 20,400
OLetAgE L OIFHY & AtES
1,400,000« 122 16,800
OSE2XHHIAIX AIAE Al22
2,400,000& 128 28,800
ORI AEE, MBS, M-Gov IS RRE AIE S
420,000 x 128 5,040
OB BEAIAE SAIT FIHAIESE
250,000 128 3,000
OB2HIY 2LI2IAIAE 3|8 AIRS
350,000& 12 4,200
OzEX, Z2222210/110| 3l&AIR2
33,0002 x343| &+ 122 13,464
OAI20IHY A SAMAHIAS SIHAIEE
6,600 x84 A+ 12& 6,653
OXgE 2H210|TH0| AIAE! FIHAIES
25,0002 3 A~ x 12 900
o032 20|10l & MM=E AHIAY
EIFaN e =3=1 11,0002 *3080 A+ 122 40,656
OIPTHED|, HAEXISWED| & FAEH|
1,808,750« 12& 21,705
OQIHU NS SAIEZ4=H|
792,000& 128 9,504
OPcE HB(EHEZ ARl dB)SXIE2H|
1,635,000& x 128 19,620
OZIIEBEAAEI ALY 858 QX 24|
640,000 128 7,680
O 3|9l AIAE KX |
700,000& 128 8,400
O-tE(S8HAIZEH] SX24=H|
700,000+ 12& 8,400
OSAEHl AMH S JIEF SXIE=HI|
513,800& 128 6,166
OPS(Ede LEANMIABSEX)S K E2=|
712,500& 128 8,550
OSHEE w2AX RX24t]
680,000 12& 8,160
ONAC(AZH 2| A|AE & Sab)]) RX|E4=H|
179,000 = 12& 2,148
OX*BRW HESEAL(HERI/EAER)
S 24| 1,045,000 128 12,540
OUARIXI SXIE2=H|
740,000+ 12& 8,880
OESE2XHHIAIR AIAE SX 24|
308,000 128 3,696
Ol AIAE RXE 44|
4,200,000 x12& 50,400




2A:

PSRL N IOD_KIE‘Q -8
el JAFE S (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
Ofota RAE HEAAE |FXE=H|
340,000& =123 4,080
OZdHY, sF:HAAE SA 2|
250,000& =123 3,000
OAI22HY 2ASAMHIAY KRRIEHI
4,700,000 128 56,400
OIPHESELSAIAE FXIEH|
400,000 128 4,800
Oll=4s BAHE AZ2
330,000& 14 330
202 0441 5,280 6,840 A1,560
01 =WOdHI 5,280 6,840 21,560
OS40IIIYS XX
18,0003 x2H 53| x 12& 2,160
OSHYD X7 (2%)
130,000 x2ZH » 123 3,120
308 AXIHMSO0I& 17,79 17,7%
07 RIXIEHZ2HREZ 17,79% 17,7%
O=NEBESAUANEI AL MEHS(Z-AlZ
2h) 17,796,000& 17,79
FESHAEEH U3 4,680 226,695 A222,015
405 Rt S| 4,680 216,295 A211,615
01 AL =EFSHI 4,680 216,295 A211,615
O3tg R MEX =X WA
180,000 *267H 2~ 4,680
gatsalzte| 1,556,459 1,369,647 186,812
T 20,000
[ 1,536,459
SE2MHdEH2S 1,556,459 1,369,647 186,812
& 20,000
= 1,536,459
201 B2 AL| 539,815 530,401 9,414
01 ArR2eltl 13,864 13,648 216
OSE2MHMHE 2 T2l E4 #¢
200,000& *43| 800
O=AEX, HEHM s 228 7
680,000 *43] 2,720
O3J1&3| g4tz
100,000 =20+ 122 2,400
OHIMUZ 1Al 2ol A 2
6,000,000 x14! 6,000
OWTVESZHHE ADEX SAH|(£%)
9,000 x2Z 0 x 123 1,944
02 S=29| 525,951 516,753 9,198
OS2MEH HERD EotAAR SN2
==t 4,018,500 x4= | 16,074




SN HEXAD
B2 A 2E P
el Fasalae (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OB HZRINAY RTZ4H
3,739,5002 42| 14,958
OYMT= 240184 L SERH SN FAI=
% 4,944, 5002 +422D)| 19,778
OSEBRME SALE SN L BALN R
PN 4,465,500 #4227 | 17,862
OFZ2UAH 2 DID IPhal| X224
2,908,5002 42| 1,614
OCCIV AE21X RAIB4H)
4,803,002 x40 19,212
OYa 2 SHAAY RXS4H|
1,861,7502 %4520 7,447
OWPS RXI=4H| 270,000 542 1,080
OYBRIE VIR ST 244
4,950,002 42| 19,800
OXIRIAl & 0210 Y-S LTV RX24
4,800,000 x40 19,200
OCCTVEAI/31E R
120,00024 103 1,200
OCCVE B3N AlBE
23,000,002 122 276,000
OSBRHA HIABE L BBASE
1,800,002+ 122 21,600
ODISYEE CTV3HHIEH KX 24|
50,000,000 14] 50,000
OXYBSE CVEIIAEE
250,002 122 3,000
OnISYEE CNHHEH ®IIAER
22,0002 +900H 2+ 122 23,760
O CVEEF AR AeRea
33660021+ 104 £ 3,366
202 01H| 3,120 3,120
NENGE 3,120 3,120
OSE2ANHEH 282 (5Y)
130, 0002422 122 3,120
307 212101 ® 543,024 530,676 12,348
05 CI2RIErE 543,024 530,676 12,348
OCCIVEEI R MIE S12t91Et 2 543,024
401 A& HI L2 0HY| 00,000 143,000 243,000
= 20,000
2 80,000
o1 Al&t] 100,000 143,000 243,000
OEs TV AL
12,500, 000287 4 00,000
< 20,000
2 80,000
405 XHoHE SH 370,500 162,450 208,050




SN BETRD
g =g 28
ol Sysalael EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 AL =S F=HI 370,500 162,450 208,050
OCt=Y& & CCTVIthiet FIHE X
12,100,000 *57H 2 60,500
OZHHE Hats, MEAX(HEE M
AKX WHFLY 110,000, 0003 * 14! 110,000
OADIE TAIQtE @ =HAALY
200,000,000& *14] 200,000
Sdgt &2 126,800 0 126,800
HSHAR =& 126,800 0 126,800
S A2 126,800 0 126,800
301 Eet2 NS 126,800 0 126,800
14 0Bt 2as 126,800 0 126,800
ORNI9z| &=SAXZ&H22BH FES
126,800,000 * 14! 126,800
a)| E2 et ED) 569,726 443,852 115,874
ANSSse o2y X 569,726 443,852 115,874
2y gile 138y =4 333,476 316,252 17,224
201 fet= 3| 12,296 21,572 N9,276
01 AtR2te|HI 12,296 19,972 AT,676
Oelxdx S22 M
4,000,000 * 14 4,000
Oogx g2 =&
1,600,000 14| 1,600
Oz aUsS?E 248
70,0002 x0H +63 3,780
O PR=E SAHI(SH)
9,0002+38+0ed» 123 2,916
202 04| 5,580 5,580
01 2LHoIH 5,580 5,580
OBAIZ 21182 X0 =&
100,000 32 »33] 900
OQI7EY PR=T(SNH)
130,000&x3&+12& 4,680
301 EtE NS 310,600 284,100 26,500
M Fetsstia 6,500 0 6,500
O2e usstd stlts XA
1,300,000 x6H 6,500
14 IIEt2 83 304,100 284,100 20,000
Oodgdel=s 100, 0002 22| *1,000H 200,000
OZ&ddl= 100,000
—&l7 1,000,000 +20& 20,000
—2E Xt 2,000,000 x20& 40,000
—3 Xt 2,000,000& 20 40,000
OQl=eldl AIX 24 Mok Alat 4,100
—3RF 1,000,0002 %1 1,000




2A:

3 &k grSD|
el NgssEg o8 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
— 2= 700,000& x1H 700
—&d 300,000 8 2,400
308 AtXIEMSOIE 5,000 5,000
07 HAHH 2R 52 5,000 5,000
IR ANS AEZ=7EE Sl3 2
= 5,000,000 12} 5,000
ANegtss LA s 8,000 8,000
201 el 8,000 8,000
01 At2t2ltl 8,000 8,000
OXNZAZ2USII= gd2=d
5,000,000& 14 5,000
OXNgAZUSIIS FAHE EItHE MH
3,000,000 %14 3,000
LSAIDIR N gdst 218,250 119,600 98,650
201 =3 164,800 90,900 73,900
01 At22t2lt] 162,000 90,000 72,000
OLEAIIFH HEX & SF HMH
6,000,000 <22} 12,000
OLEANIIFS EellE S
150,000,000 *14] 150,000
02 S3=gHl 2,800 900 1,900
OLEAMEI TS EalS S
5,000 »56024 2,800
308 XtXIEMSO0IE 53,450 28,700 24,750
18 S [2S0tHer 34 A A A 53,450 28,700 24,750
OLEMI TS SEHEANLE SN2+
23,450,000& x 18] 23,450
OLEAZIIZH Z1lg
30,000,000 x14] 30,000
Olch X1 w=J|g &5 816,318 849,903 A\33,585
FolA st 14,328 14,196 132
FOITRIME 2 14,328 14,196 132
201 er23| 13,140 13,140 0
01 At2teltl 3,140 3,140 0
O=2IAXIE2s S
20,000 x11H =122 2,640
OFoURAAZE SZH M
100,000& +5& 500
03 A2 I 10,000 10,000 0
O=2UXNXAY SgHat W=
10,000,000 *13] 10,000
301 EtE N = 1,188 1,056 132
11 #AIAMHIXIE S 1,188 1,056 132
O=2UAXE2s =2 288 A
9,000 *11& 122 1,188




SN HPTAD
33 DX ws)|e &3
el NYHIRY B (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AylgAeg 23 455,900 477,400 21,500
NgSs2E =4 455,900 477,400 221,500
201 er23| 179,100 209,600 230,500
01 At2teltl 179,100 209,600 /30,500
O % EDIZ PSnSH X
86,000,000 * 14 86,000
OS2 Xt O12tCID| 696,000 x100H 69,600
OUASRE NS5 HEu=
250,000 *40E 12| 10,000
OXMuE ZAt=& 300,000 %102 3,000
ODIYME=E W=
300, 0002 «35E 12 10,500
202 04| 236,800 237,800 1,000
01 =LHOLI 11,800 12,800 21,000
OZ2& w0l 416,660 x 123 5,000
OEAIZ SRA Al 808 U=
200,000& *10H 2,000
OZM AFS 0] 20,0002 73| x 123 1,680
OB DI4R L FBNR 23 (5Y)
130,000 x2& * 12 3,120
05 SR W0 225,000 225,000 0
OZS& W= ol 18,750,000& «12& 225,000
307 elztol & 40,000 30,000 10,000
05 212t =S 40,000 30,000 10,000
OdoHIA HEXIRME 1s =29
40,000,000 *14] 40,000
ZIorast= 29 346,090 358,307 A12,217
ot sl 29 346,090 358,307 A12,217
101 21AH| 40,989 41,580 A591
04 JIZtN2Z2 XS 2=+ 40,989 41,580 2591
Odlotdst= JI2thl Zc|& 2l2H| 39,666
—JlEs 85,9102 x 1 #248 21,306
-5+ 85,9103 x 1 »52 4,468
—ReRdsE 85,9102 x1& 16 1,375
— St 2,000 1 =248 4%
—=g4 4,0002 x1& »248 992
—SEFOHI 300,0002 1 +23] 600
—AZ2t2 24
17,240 x 18+ 1BA1 2 123 3,104
—optaesd
5, 7453 x1H*2A1 2Hx102 +12& 1,379
— ¢ x==g 91,9103 18 x15& 1,379
—5L2F+ 137,8703 18 x1 138
—4AHEE= 35,237,000 x 12 *12% 4,229
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2A:

SHE X2 0t

Hu: ORHKIEE DRI HE
ol MordE = 2Y (SH &)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
OFet= Molrk 22
800,000& x12& 9,600
O¥sl=s JiARs 1,100,000& = 12& 13,200
O&el= HM3t L AHoERS
600,000& =123 7,200
OdssXl2eltl 1,500,000& 123 18,000
O&tdlIs X 2eltl 2,000,000 *4ZJ| 8,000
OYT S SHFY| 42|
3,500,000 14 3,500
OZAIDt0Iet =2l 2,500,000 14 2,500
OYHId &&dE
10,0002 x 128 120
202 o4t 3,120 3,120
01 =WO4 bl 3,120 3,120
ORIt QDB 0|(EH)
130,000 x2%H 123 3,120
301 LEBNEF 139,789 142,471 A2,682
14 JIEt2 43 139,789 142,471 A2,682
OArY 2HAIHIS
2,500 x68H 130 22,100
OA SAE ME F(1E, 28)
4,000 *30Z * 142 *120% 2,016
OAr SAZ ME 7 (3E~128)
4,000 3 x68% *302& x 120% 98,573
OUAIY A3Isrs 2 AH|
120,000 »22 Z+603] 14,400
O At DA 9,000& *30*103] 2,700
308 AHXIHMSOIH 770 770
13 SI1 2SO & X P& A I 770 770
OAY 2& AZ2Z0Hl XIS
770,000& 13l 770
405 KHHE SH| 4,400 5,200 A800
01 AL ESH S| 4,400 5,200 A800
OA M oT 7l
180, 000& 204 3,600
Odletdst= TMI| +&
800,000& *1CH 800
HHY2AZH (I KAL) 15,096, 182 15,870,458 NTT4,276
AR A (A XIA1) 15,032,554 15,808,792 AT76,238
QIR I (A X2 1) 15,032,554 15,808,792 AT76,238
101 eI t| 3,237,186 3,267,542 A30,356
01 2=+ 2,628,441 2,611,773 16,668
OAIZt2l 282 256,684
—53(ItA)
15,0092 1H+50A1 2+ 128 9,036
—6= 12,8443+ 12B +50A1 2H+ 123 R, 477




2A:

PR %Q—E—%%M(@@II%BH
CHRl: CIHRY| (™ XA (CH9: /M)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
S22 (62)
12,8442 x 12+ 110A| 2H+ 12 16,955
—7= 11,6022 x7H*x50A| 2H+ 128 48,729
—82(72)
11,6022 x 12 *110A| 2H+ 12 15,315
—8= 10,4163 x5 *50A| 2+ 122 31,248
—-9= 9,860 *6H*50A| 2t 12& 35,496
— XIS AHAZA
12,3803 x 1H+50A| 2tx 128 7,428
OX2M&H| 256,684, 000& *3% 7,701
O~ a2 2,357,000,000& * 14! 2,357,000
OWINB2Y NELELLS
4,200,000 +8H * 12 & *1.75% 7,056
02 JIEt & B4 252,988 253,560 NB72
OAIZIRl 22+ 46,333
—HARE(AS)
12,9263 x 1H+60A| 2tx 128 9,307
—HAR(AT)
10, 8213 x2H *x60A| 2H+ 128 15,583
~HAPE(2)
9, 27 A *3H *60A| 2H* 12E 21,443
O&tst= ORI22E 17,243
—HARH(Z9)
4,309 1H*8A| 2Hx 162 x 128 6,619
—HAR(AT)
3,607 1H«8A| 2Hx 162+ 128 5,541
—HAGE(=H)
3,309 x1H *BA| 2H+ 162+ 128 5,083
OFsts 5Y2LLY(RSEY TH) 2,738
— AR ()
103,002 x 1P +x7L x 12& 8,728
—HRAB(ZT)
86,980 1P +x72U 122 7,307
—HAAB(23)
79,797 & x1H 7L+ 128 6,703
OXS &b 85,779,000 *3% 2,574
ONHZE DBPE 293
4,200,000& *50H x12& *1.75% 44,100
OZZE U HANLSHO| HUAKZ
120,000,000 & =14l 120,000
03 222 (2IHH) 2224 283,757 267,209 16,548
OAIZI?l 224 33,274
— 24 HINA
23, 207 & x 18 x15A| 2+ 128 4,178
e e
20,9822 x 1P+ 15A| 2+ 122 3,777




2A:

PSRL N %Q—E—%%M(iﬂgxl%l’})
ool oI (HYXIJD) (CH9: &S1)
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